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AG-1 : PHYSICS
Fi¥-1 : vt o

. If a free electron is placed in the path of
a plane electromagnetic wave, it will
start moving

(A) towards the centre of earth
(B) towards the equator of earth

(C) towards the direction of magnetic
field

(D) opposite to the direcﬁon of electric
field

. The power of lens of focal length 1 cm is

(A) 1D ’

‘(B) 10D

(C) 100 D

(D) 001 D

. One cannot see through fog because
(A) fog absorbs light

(B) light is scattered by the droplets in
fog

(C) light suffers total reflection at the
droplets in fog

(D) the refractive index of fog is infinity

. The dual nature of light exhibited by
(A) diffraction and photoelectric effect
(B) diffraction and reflection

(C) refraction and interference

(D} photoelectric effect

. Huygens’ wave theory allows us to know

(A) the wavelength of the wave
(B) ' the velocity of the wave

(C) the amphtude of the wave
(D) the propagatfpn of Wavéﬁ'qnts
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6. The dimensional formula for impulgeis =, . 6. aman & e g
(A) MLT2 S (A) MLT2
By MLT! (B) MLT!
(C) MLzT-l (C) MLZT—I
(D) M2Lr! (D) M2Lr!
7. The unit of reactance is ' ‘ ' 7. W= # 4w Q
(A) ohm (A) m
(B} volt (B) ﬁﬁ
(C) mho (C) #
(D) newton (D) =IHA
8. The layers of atmosphere are heated 8. Wﬁaﬂ%%ﬂﬁﬁ@ﬁﬁfﬁ%? |
through , :
(A) wEE
{A) convection
: (B) e
(B) conduction
() fafdm

(C) radiation

(D) (B) and (C) both
9. The internal energy

depends upon

(A) specific volume

(B) pressure

(C) temperature

(D) density

TAPE-01B/14/5-A

(D) (B) @& (C) 3

9. T% ey Mg N Ials o= = 4 @ frm
R fft et 27

of an ideal gas
(a) fafire smeaw
(B) <

(C) aEEH

(D) &
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10.

11.

12.

13.

The spectrum from ar blackbady

radiation is

(A) a line spectrum

(B) a band spectruni® -

(C) a continuous spectrum

(D) line and bang spegngm both
When the convergent nature of a convex
lens will be less as compared with air?
(A) In water

(B) In oil

(C) In water and oil both

" (D) None of the above

An electromagnetic wave going through
vacuum is described by

E = E sin (kx - ot)

Which of the following is independent of
wavelength? -

A) k

B) o

©C) k/o

D) ko

A body is in equilibrium under the

- 9>
action of three forces F, F,, F3. Which
of the following statements is wrong?

A) R+F,+Fy=0

B) F‘l, 1_7)2 , 33 can be represented by the

three sides of a triangle taken in
order

(C) R +F, +F3 =0

(D) None of the above

TAPE-01B/14/5-A

-10. HwEEg fafmo dwmd

11

12,

13.

@ i dem

(B) <ve WegH

(C) W WagH

(D) Yty Td vz W I

. A B e § v A B e R

Srefi

A) whF

(B) d& #
(C) TR d
(D) 37w # ] P 7

falq @ wefm @ fga-gedm @

E =E, sin (kx - of) § =% i T} Fe

# Q PNt Uity aoded A T 7

A) k

B) o

© k/o

(D) kw

w 3 dW @t R, B, d B, % ol
ey # ) e & /@ FR-91 FoF e 27
(&) R +F, +F =0

(B). R, Fy, Fy ® 3 o R A e 1

# gl g e R o W &
(C) RF+F, +F3=0
(D) 3w & A =
{PT.O.
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14. If the volume of a’gas is doubled at 14. figa T W afe feelt fg & e & T W
constant pressure, the average 3, q IT* aulaﬁ # MNua WA s
translational kinetic energy of its =t
molecule will
(A) be doubled @) [T &

(B} remain same (B) Jrafeafea
(C) become four times . (©) =R ’I-ﬂ B st
(D) None of the above _ (D) 39y § | i A&

15. The angle between the magnetic 15. g TR o s T F de

meridian and geographical meridian is

called F T R
(A) angle of dip (a) -z
(B) angle of declination (B) feguma-r
(C) magnetic: moment (C) Frcblm ot
(D) intensity of magnetic field (D) Trerhr a5 f diaar

16. If a le.ns is cut in.to . two Pieces 16. IR wF oW RN T A8 ¥ wraEq @ Wi &
perpendicular to the principal axis and .
only one part is used, the intensity of Fe T T et o @ A I
the image ' . I, 7 sffaer i
(A) remains same (A) Nqﬂ'qﬁ'ﬂ Tt
(B) becomes ;1‘- time | B 1 Tt gt
(C} becomes 2 times C) 2 Tﬁ@’ﬁ
(D) None of the above (D) Idw # & ¢ T

17 Toe Tt of mean kit SHeTm) P37, 20w s o o
temperature is | i et sfver et st s 2
A) 1:16 (A) 1:16
B) 1:8 (B) 1:8
€ 1:4 € 1:4
D) 1:1 D) 1:1

TAPE-01B/14/5-A 6
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18. Rainbow is formied due to ~ '

19.

20.

21.

(A) only reflection

(B) dispersion and total internal

reflection
(C) diffraction
(D) scattering
A bomb at rest explodes into a large
number of tiny fragments. The total
momentum of all the fragments
(A) is zero

(B) depends on the total mass of all the
fragments

(C) depends on. speeds of various
fragments '

(D) is infinity

In gases of diatomic molecules, the ratio
of two specific heats of gases (Cp, /G,) is
(A) 166

(B) 1-33

(©) 100

(D) 1-40

At magnetic poles of earth, angle of dip
is i

(A) zero

+.(B) 45°

(C) 90°

(D) 180°

TAPE-01B/14/5-A

+ 18, FRUTY PAW FROLE Jow @ ¥7

19.

20.

21

(A) %:aaqtraﬁ'-r;

se g

(B) aﬂf-ﬁm@vjm&%ﬁm
() fad -
(D) wehiuiA

mmﬁ@@mﬁmﬁm%w
7z o won # SR-vr gwet F g s

ot gl W e WA

(A) T &M

B) wh gt & g s Pk R
(©) faftm gwgt ¥ it w Pk am

, (D) ¥ &m

R st 7@ A % R A A A
faftre st @ sgaw (C,, /€,) @

(A) 166

(B) 133

(C) 100

(D) 140

Y & migﬁm?ﬁ(—aﬁw am |

A) T

@) 45° .

(C) 90°

(D) 180°

[PTO:
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22. One feels hotter at the top of a fléme

23.

24,

25.

than the sides because of

(A) conduction

(B)‘- convection

(C) radiation

(D) Both {A) and (C)

The chromatic aberratlon in lenses
becomes due to

(A) dissimilarity of main axis of rays
(B) dissimilarity of radii of curvature

(C) variation of focal length of lenses
‘with ‘wavklerigth

(D) :None of the abeve i

If a wire having resistance 80Q is
stretched to double the length, what will

~ be the resistance of the wire?

(A) 160Q
(B) 320Q
(C) 240Q
(D) 640Q

An object will continue - accelerating
until

- (A) the resultant:foree acting on it

begins to decrease
(B) the resultant force on it is zero

(C) the resultant force is at right angle
to its rotation

(D) the resultant force on it is
increased continuously

TAPE-01B/14/5-A

22. frft & & IR 9% IF-wa B g A i

23.

24,

25.

mmmmagﬂaw%,mm%
(A) =TH o

(B) waed

(c) fafemom

(D) (A) T (C) AFT

St & ot forges w1 R § o
(A) Pt % ger st . sl
(B) shan Frswat €t sramfiaar

(€C) TR & wy ol fiwew g A
afEdH

(D) 3k & & A t
I}k 80 Q ity & foreft ar &t Wiwwt Iqeht

T g R ST 2, @ 39 AR W wfedy
g

A) 160Q

3

(B) 320Q
(C) 240Q

(D) 640Q

(A) -3 R/ W I IROER w6 w1 qE TR
I

(B) 38 R qiomh & @ 9§ TR

(C) whumh s= 3u% g A Ren #F wrweq
IR

(D) 38 R IR 1 1 A TR AT @
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AG-1:: CHEMISTRY
HiN-1 ;: WA

26. The metal present in ¢hiorophyll is 26. FARIber & ufea uig ®
(A) Fe S (A) Fe ’
(B) Mg ; (B) Mg
(C) Co -(C) Co
(D)"Mn" “@ , - (D) Mn |
27. Soaps are metal salts of 27. W e & & frem U W g 27
(A) alkane o (A)
(B) alcohol (B) e
(C) fatty acid (C) T| =T
(D) sulphonic acid (D) "I am=
28. Rickets is caused due to the 28, R¥w fmfRen & 3 Read = $ wrw
deficiency of “ B &7
(A) vitamin A 2 ) FefE A
(B) vitamin B B) A B
(C) vitamin D S ©) R D
(D) v1tam1nE o ‘ | (D) | E
29. Soaps are salts of 29. : mg__[ m # ﬁ ﬁ?ﬂ% m MY

(A) strong acid and strong base ,
- (A) TSIE ARA qAT Vot &R <

(B) Vo A U1 g &R
(C) oS 1 qA VS &N

(B) strong acid and ‘weak base
(C) weak acid and strong base
(D) weak acid and weak base

(D) FHe A U1 golet @R
30. State of hybridization ef -esglyon - and .

bond angle -in .ethene molecule .30, 2. 3g ﬁ?ﬂihiﬁ HT HAGERA a9l Y
respectively are w5 E,
(A) sp®, 180° o (A) sp?, 180°
(B) sp?, 180° | B) sp?, 180°
(©) sp?, 120° : (C) sp?, 120°
(D) sp, 120° / (D) sp, 120°

TAPE-01B/14/5-A 9 . [P.T.O.
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31.

32.

©(A)

33.

34.

35.

The nature of bonds in NHj ion iy

(A) ionic

(B) covalent
€

(D)

coordinate

covalent and coordinate

The silver halide having maximum
solubility in water is

AgF -

(B)
(€
(D)

AgCl

AgBr

Agl

The molecule which does not obey
octate rule is

(A)
(B)
€

CH,
BH,
H,0

(D) HCl

In 'ﬁNa, numbers of protons and

electrons are respectively *
(A) 12 and 11
(B) 11 and 12
(€

D)

12 and 23
11 and 11

Which of the following is not affecting
by electric and magnetic fields?

(A) Proton
(B} a-rays
(C) B-rays

(D) y-rays

TAPE-01B/14/5-A
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- 31.

32.

33.

NH}, ¥ # srerel 6 wfa 2
() Ml

(B) . HEHANTH

(C) STEHANTE

(D) TEHANTEH qUT ITHGEAIS

vt & waiftres feeia e das ?
(A) AgF

(B) AgCl

(C) AgBr

(D) Agl

o, < o Frem Y e 7 e B, 3
(A) CH, ‘

~ (B) BHj3

34.

38.

(©) H,0
(D) HCl

2 Na # e @ e ) T &, w:
(A) 12911
(B) 11912
(C) 12723

(D) 11911

Pl 7 ¥ B W A @ g o

1 YA T e 87
(A) WA

(B) o-feor

(C) p-Rwr

(D) y-Trw

s e

o A v T e st N e o SOn S RS GRS g S w5 g e

A

B

Pt A e



36. On hydrolysis .of which one of the

following salts bas1c solution is
obtained?

(A) NaCl
(B) CH,COONa
(C) - NH,Cl
(D) KNO,

37. Which of the following salts will not

undergo hydrolysis?
(A) NH,CI
(B) CH3COONa
(C) CHRCOONH,
n - (D) NaCl

. pH value of —lN-a NaOH solution is

@A) 1
(B) 14
(€)
D) 7

13

39. Example of emulsion is

(A) coloured glass

(B) butter ‘

(C} cloud

(D) milk

Which of the following ions is the most

effective in coagulating the ferric
hydroxide sol?

(A) Na*
B} CI”
(©) Mgt
D) A%+

TAPE-01B/14/5-A

11

37.

38.

39.

400

ﬁmﬁiﬂﬁﬁéﬁ?ﬂaﬂm%{mﬁ
i foemm ww A 87

(A) NaCl
(B) CH,COONa

(C} NH,CI

(D) KNO,

ﬁnﬁf@a K ﬁ»'aaaw &t aamm &
grar &7

(A) NH,CI

(B) CH3COONa

(C) CHCOONH,

(D) NaCl

'i% NaOH faeas % pHmm% ‘
@A) 1

(B) 14

C) 13

AR ] R S

D) 7

THETM 1 I B
(A) TR ==

(B) wEH

P

(C) W

(D) @

frefifaa # @ F-w A PR TEFFEES
aie & @A & fog waifts wmeameh #7

(A) Na* |

B) cI-

(€ Mmg?* ’ -

(D) A13+

[P.Ti0.
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41. Example of’invert sugarfis &
(A) sucrose '
(B} glucose
(C) fructose
(D) equimolar mixture of glucose and

fructose both

42. Which of the following is peptide
linkage?" S
(A) —CO—
(B) —COOR
(C) —CONH—
(D) —CONH,

43. Molecular weight of Na,CO; is M, and
that of NaHCOj; is M,. The equivalent

weights of Na,CO; and NaHCOj are
respectively

(A) M; and M,
(B) %—1— and M,

M M
1 and =2

© = 5

M
(D) M, and —5&

44. n-Butane and iso-butane ‘are
(A) position isomers
{(B) chain isomers
(C) geometrical isomers
(D) functional isomers
45. Which one of the folfowing is most
acidic in nature?
(A) Methane
(B} Ethane
{C) Ethene
(D) Ethyne

TAPE-01B/14/5-A 12

41. Weliq YR ISR §
&
(B) TTHH
(C) w™
(D) TERE R QI 1 GHATE s

42, Fafafea & @ F9-w1 Yewe v 37
A) —CO—.
(B) —COOR
(C) —CONH—
(D) —CONH,

43. Na,CO; H MR M, 41 NaHCO, #
M, ® Na,CO, a1 NaHCO, % geieh!
IR g, A

(A) M; T M,

M
(B) —Ldau M,

2
M, M,
~lagg =2
© 2 2
M
(D) M, T —2

44, n-wngm&@?%
(A) et smaeh
(B) *Ee FHEE
(C) i qumad
(D) Toraeres wnTERE
45, fafafan & ¥ FR-w wite suefim wof
w7
(A) A
(B) @A
(C) wiF
(D) T

WWW. r ecr ui t nrent .. guru
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46. A pa1r of organic compoundg With sargg:: V46, wRfF NH = @& g, e HeArgaTet

empirical formula is e o B
(A) ethane and ethene - (A) H T uf
o (Bf ethane and ethyne R : (B) @q q 1o
(C) ethene and ethyné‘ ) \‘ o (C) qeﬂ:raqq'rs:r
(D) ethyne and benzene (D) TUEA § sf=iA
47. The main component of gobar gas is 47. M A F 1E 9=2F 8
(A) methane A) ==
(B) ethane (B) W
(C) propane . (C) W=
(D) butane (D) a{h
48. Which one of the following statements is 48. Tl # @ B-w Fow w@ ¥
correct? 4 (a) Yfew o, wFF o A AR
(A) - Acetic acid is more acidic than Irefia @
formic acid - , (B) % o, WR® owa ¥ o
(B) Formic acid is more acidic than et
acetic acid ‘ ™
(C) Acetic :acic:} ?.nd formic acid are © ?%@T ;W'I T B SH A
equally acidic v
(D) Acetic acid is rhore acidic than (D) Wfew s, TG aTEh 3T .ﬁ s
hydrochlotic acid T
49, The number of unpaired electrons in Cr 49, Cr (TIY FHi® = 24) & gfia gl $i
(atomic no. = 24) is ' g 2
ey osix 0 T @ =
(B) five (B) df=
(C) four (C) WX
(D) three (D) =
50. Urea gives the test of 50. q‘P?TI wiegor et }
(A) >C=O0 group v (A) >C=0 uqg &I
(B)  —NH, group (B) —NH, @ ®l
(C) —CONH,, group (C) —CONH, g #1
(D) All the three groups | (D) o wggl
TAPE-01B/14/5-A 13 {P.T.O.
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" AG~1 *"MATHEMATICS
- wfR-1 : Thm

51. If in a geometric progression, 3rd term

51. IR w& iRk A & f|ga ug 2 §, 597 W
is 2, 5th term is 8, then the 10th term is

8% a9 10aT e &

(A) 82 @) 82
(B) 256
(B) 256
(C) 526
(C) 526
(D) 512
(D) 512
52, l+tan?6 _
1+cot? @ 52. 1‘+tan29___
1+cot? @
(A) cq,};e _(B) tan®
(A) cotf (B) tan®
(C) tan2@ (D) tan26
‘ (C) tan%6 (D) tan20
53. The sum of infinite terms of
1 2 4 8
=, =5 I, -2 .. 1 2 4 8
’ 9’ o7’ ’ §3. =, ~ =, —, ——, -+ % 3 9S8 H-AT
3 927 8l _ 3’ 927" 81 _
is
@) o (A) O
(B) +oo (B) +eo
(C) - o0 (C) - 00
1 1
D) - D) =
(D) 5 (D) 5
TAPE-01B/14/5-A 14
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54. The coefficient of variation. of:: a
distribution is 60 and the standard
deviation is 20. The arithmetic mean of
it is S

@) —
B) —

€} —

(D) 30

kN

55. Two poles of lengths 6 metres and
3 metres respectively are standing
straight upright at certain distance. A
third pole of length 5 metres is placed
touching the tops of the two vertical
poles. The horizontal distance between
the two vertical poles is

- (A) 2 metres
(B) 4 metres
(C} 3 metres

(D) /3 metres

56. Two geometric means between 9 and
576 are h

(A) 18 and 172
(B) 144 and 86
(C) .36 and 144

(D) 81 and 243

TAPE-01B/14/5-A ~ 15

54.

55.

56.

e

freft s w1 famw o 60 ® W WE
Jﬁa‘mzoélwmm%

@A) —
B) —

€ —

(D) 30

A N, FFd Tard w6 WX w3 Hiw
[P R U I i e
e O, Rt g 5 Wi }, 36t o
die & st 1wt Qg @ gen 31 A
o aet & de afw g R

(a) 2 #x
(B) 4 WX
(C) 3=

(D) 3 X

9 W 576 % i < IR WA §
(A) 18749172 |

(B) 1449 86

(C) 363 144 ;

(D) 8149243

[ P.T.O.

WWW. r ecr ui t nrent .. guru



5§57. If n — «, then the value of log, n is:

57. AR n~> oo, qd log, n &1 A

(A) tending to « | (A) o Y 3T ST R
B) 0 (B) 0%
(C) e (C) e?
(D) 1 D) 1%

58. 50th term of -50, —45 -40, --- is

58. -50, - 45, — 40, .- % 5041 9 &

(A) -400
(A) -400
{B) +250
(B} +250
(C) -195
‘ € -195
(D) +195
(D) +195 3
59. If in a frequency distribution, variance - .
is 25 and arithmetic mean is 10, then _ 59. R “3' R l, 25 & iR
the coefficient of variation is FHRR A 10 A, A ﬁw'ﬂ“ﬁ g
(A) 250% (A) 250%
(B) 50% B) 50%
(C} 2:5% (C) 2:5%
(D) None of the above (D) 39w # A HE A
60. cosfsinb = 60. cosOsinf =
A) 1 (B) O Ay 1 (B) O
(C) lsin26 (D) lcos2(-) (C) lsin26 (D) lcos29
2 2 : 2 2
TAPE-01B/14/5-A 16
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61. The sum of first 7 term& of 9, ~ 6 4, =-+is 61..9 -6 4, % JUq 7 Y& HT AT ¢

463

81
w S g S 463 =
81 S 463 @) 81 ®l 463
© 91 (D) ~694 © o1 . (D) -694

62. If cotd = i, then the value of sin20 is 4
3 62. ?-lﬁcot9=-3-, T sin20 &1 UH 8

4 5 |
A) = B) = .
, @ 2 B -
(A) 5 (B) 3
25 24
“ 2 ® 25 25 24
€ — D) —
24 ' 25
63. The standard deviation for
8,712,5,6,7, 4 63. 8, 7, 12, 5, 6, 7, 4 1 AFE e §
is o :
ooy (A) 40 (B) 20
(A) 40 B) 20 o ,
(C) 258 (D) 667 (C) 258 (D) 667
64. Given log2=0-3010, log3=0-4771, 64. IR log2 = 0-3010, log3=0-4771, T
each at base 10, /then_ the value il AR 10 3,?ﬁlogm(108)imm=l?
of log;(108) is S :
(A) 37781
(A) 37781 !
(B) 2:0333 . B 20333
©) 20771 € 20771
(D) 27781 - (D) 2-7781
TAPE-01B/14/5-A ' 17 ~ .. [PTO.
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65. Which of the following is a geomefric -65. i & § - 3 ol A 27

progression?
2121
‘ A A Ry Ty o T
w 2,121 W 3293
3253 A
111
B =y Ty T
2 3 4
€ 234 -
3 . D) 24,8
66. Three numbers are 1n arithmetic 66. ?ﬂ:l FES I{HF;( ;}é’t.ﬁ gj %ﬁm-q;rq‘m 72 %
progressionl, whose sum is 72 and Td 7o 13608 B 9 A

product is 13608. The numbers are

(A) 21, 24, 27
(A) 21, 24, 27

‘ (B) 11, 34, 27
(B} 11, 34, 27

(C) 17, 34, 21
(C) 17, 34, 21

(D) 37, 24, 11
(D) 37, 24, 11

~ 67. z=-log (x)FaR x =08, @«
67. In z=-log,(x), if x =0, then ‘ o

W z=1 | & z=1
B) z=0 B) z=0
C) z—e ' O 2o ,e»
(D) Z - —o0 ) - (D) Zp—)—oo

68. Median of the data 68. wimi

74, 80, 65, 85, 95, 72, 76, 72, 93, 75, 74, 80, 65, 85, 95, 72, 76, 72, 93, 75,

- 75, 84, 60, 74, 75, 63, 78, 87, 90, 70 ‘ 75, 84, 60, 74, 75, 63, 78, 87, 90, 70
is . $ Tt 2
{A) 93 B) 75 &) 93 B) 75
() 84 @ 72 © 84 D) 72

TAPE-01B/14/5-A 18
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69. If 0 =g-, then the value of tanO;s 69. ‘!ﬁ 0 =-§-3, aq tan® %I A

A 1 @ 1% o

(B) not defined ‘ (B) o T
C) 0
© ) o
(D)
(D) =¥
70. The sum of all the terms of .
4,8 12 -, 212 70. 4, 8 12, .., 212 F@ft W w AR
is :
(A) 2482
(A) 2482 '
(B) 2128
B) 2128
(C) 5724
(C) 5724
(D) 5700
(D) 5700 »

71. Three arithmetic means between ~land ~ 1+° 1 & 15 ¥ o d e e §

15 are

@A) 5, 10, 11
@A) 5, 10, 11 '

®) 3, =7, +11
B) 3, -7, +11 ,
(C) -3, -7, +11
(C) -3, =7, +11 |
D) 3,7, 11 B 3.7 1,

. 72. log3(81) FAA &
72. The value of log3(8]) is

A) 4 A) 4
(B) 3 ‘ B) 3
(€) 2 | € 2
(D) o (D} e
TAPE-01B/14/5-A | 19 - [PT.0.
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73. How long it will take to pay a loan, of 73. 880 ¥ ¥ FS W A FA W TN W i

€ 880, if © 25 is paid in the first month, i, IR weom WA 25 To, T W |
¥ 27 is paid in the second month, ¥ 29

27 %o, d TR & 29 To, AR @ fFw
is paid in the third month and so on? S 27

(A) 48 months A) 48 T

(B) 20 months (B) 20 7

{C) 44 months ©) 447
(D) 12 months D) 12 7 i
i
) ¢
74. If tan(A- B) =3 and tan(A+ B)=— : !
an(4-B)=+3 and tan(A+B)= =, 74. IR tan(A- B) =3 W tan(A+B),=7_1§, ‘ég
then the value of A is [
AT AR s,;
!
(A) 45° @) 45° :
(B) ©60° '
60° :
(B) !
(©) 90° © 90° )

(D) 15° (D) 15°
75. The sample mean of 4, 6, 6, 7', 9,10is 75. 4 6. 6. 7. 9. 10 %1 Wiy 7eg R , f
;
W @ 7 . S
®) 6 B) 6 o ‘
%
© S (C) 5 |
;.
(D) 10 (D) 10 ’
!
TAPE-01B/14/5-A 20
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76.

78.

.AG-1 : BIOLOGY . .
#N-1 : Hafamm

The function of setae in-earthworm is
(A) digestion ot

(B) locomotion v

(C) excretion

(D) respiratioﬁ

Silk is collected from
(A) larva

(B) adult

(C) pupa

(D) cocoon

What is the basis of wlassifigation of
animals?

(A) Symmetry
(B) Segmentation
{C) Coelom

(D) All of the abave

Which inseét is harmful to agrici.il ture?
(A) Silkworm ¢ «

(B) Lac insect Lt

(C) Grasshopper

(D) Butterfly

Typhlosole is produced in, the intestipe
of _ 7
(A) earthworm =

(B) cockroach

(C) grasshopper

(D) silkworm L

TAPE-01B/14/5-A
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76. FLN T Y& H 71 FH &7
(A) R o
B) fa
(C) S
(D) @&

77. W THE FQ §
(A) wmE
©) Jwma
(D) Fhepw @

78. aﬁsﬁ%wﬁmwwmmc&?
(&)
. (B) @wEtwad
(C) e
(E) mmﬁ o
79. F-A1 HiT Aft F FwFuw wfuwn ¥
(A) W e ’
(B) @ #e
© R
(D) fererelt it

A) Fgem e
B) fremm

() Rem |

D) WmwHEL. ,. .

N

- I k‘P.;I‘.O. '

SO —————
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81. Radial arrangement of vascular bunilles

82.

83.

84.

is found in
(A) root
(B)‘ stem
(C) leaf
(D) branch

Only phloem contains
(A) parenchyma

(B) sclerenchyma
(C)‘ sieve tubes and companion cells

(D) None of the above

Which one is the pai't of stele?

(A) Epidermis

(B) . Pericycle

(C) Cortex .

(D) Hypodermis

Which one of the following is present
only on leaves?

(A) Hydathode
(B) Periderm
(©

Cambium

(D) Starch sheath

Which is found in ‘endodermis?

(A) Casparian strip

(B} Starch grain

(O Cuticle

(D) Mineral crystal

TAPE-01B/14/5-A

22

81.

83.

84.

Yag T6l 1 IR YEEATIR T Sl @
() TR
(B) W #
(C) wt#

(D) wran &

Rk Qv & ger /9 &

(A) TH

B) T |

© SRR S SRR SO -
(D) 3G & A B T

P-4 T T 1 e 47
(A) @Rl

B) i

(C) Tz

(D) S
ﬁqﬁﬁaaﬁ%aﬁ#?m@ﬁ%ﬁﬁmw
e 7

(A) SRY

(B) uft==

() *frm

(D) AYE (R e
e B A r San 87
(&) e i

(B) #UE HU

(C) et
(D) &= @
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86.

87.

Cambium is responsible for’
(A) formation of glucose
(B) primary growth

(C) secondary growthm

(D) respiration -
What is the smallest unit of
classification? e
(A) Species

(B) Genus

(C} Order

(D) Family

Diadelphous condition of stamens is

~ found in

89.

90.

(A) Malvaceae

(B) Rutaceae

{C) Cucurbitaceae

(D} Papilionaceae

Which is the characteristic feature of
family Compositae?

(A) Superior ovary * *

(B) Inferior ovary

(C) Half superior ovary . .

(D) None of the aboye

The characteristic features of family
Malvaceae are

(A) monothecous .and diadelphous
stamens . -

(B) dithecous
stamens

(C) dithecous and monadelphous
stamens

| and - diadelphous

(D) monothecous and monadelphous
stamens oo

TAPE-01B/14/5-A

< 86, HfAmm Redert

(A) ﬂaﬁamﬁ%%ﬂ

B TR HERA
(©) i i % R

D) W *RA

87. i i gad BN T - 2

(4) wfa
(B) aw
€ ™

D) F=

88 gut v fewedt s ard ot @

(A) T &
(B) w2 #

©) FFRERT
(D) Rferame &

89, wifed gl &1 R o AW ¥

(A) Fedadi smm
(B) yeitadi s
(€) 3 Fedaefl s
(D) Iwgw & A B 7

(A) TETREERR au e g
(B) Rty o R gFm

(C) fEwrrepieh aun wHEd g3 -
(D) TR ot i g

O PTO.

R,
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91. Tetradynamous condition of stamens is

92.

93.

94,

95.

TAPE-01B/14/5-A

characteristic feature of
(A) Cmcifer;;

(B) Malvaceae

(C) Leguminosae

(D) Solanaceae

Dumbbell shaped stomata are found in
(A) Malvaceae

(B) Gramineae

(C} Cruciferae i

(D) Solanaceae

Cereal crops belong to which. family?
(A) Malvaceae R

(B) Cyperaceae

{C) Gramineae

(D) Cruciferae

Selection g;ethod of vbreedi‘r;gmiﬁs the
(A) newest |
(B} oldest

(C} median

(D) best

During respiration, pyruvic acid is
formed by T B

(A) " Krebs cycle
(B) TCA cycle
(C}) PPP cycle

(D) . glyeolysis .

24

91, T ¥ wgdfl feufa w1 gem wEm @
() FREE
(B) W ¢
(C) R '
(D) wAE

02, Sadw TR W TATAE
(A) wreaE §
(B) it §
(C) FEH &
(D) Wt 3

93. U= HEe HA-8 FA | aweh 77
(a) TR |
(B) wERER
(©) miFh
(D) FEHT

94. Tl & 5 hi T AR 2
&) w@TE
(B) &= I
(©) Wt
(D) H4& 3= "

b

95, T ¥ A IR o T

e (A) R U ER
(B) o Wo To TV
(©) o o o T aW
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96. The growth hormori& Which Helps in

closing of stomata in dark is
(A) IAA
(B) IBA
(C) GA,

(D) zeatin

97. The backcross ratio in a monohybrid

cross is
A) 9:
(B) 3:
© 1:

D) 1:

98, Mule is an offspring of

(A) male anfl female donkey

(B) cow and ox

(C) male horse and female donkey

(D) male donkey and female horse

99. Cell organelles are found in

(A) bacterial cell

(B) prokaryotic. cell

(C) eukaryotic cell

(D) cyanobacterial cell

100. The place where the spindle fibres are
attached to the chromosome is called
(A) centriole
(B) chromosome

(C) centromere

(D) chromoéentre

TAPE-01B/14/5-A 25

- gg U # Bt A it wX § e I T 3

(A) TAA
(B) IBA
(C) GA,4

(D) frefer

97. Thelae g & JeHia U 2 2

A) 9:3:3:1

B) 3:1
€ 1:1
M 1:2:1

98. G U% Gafd 3
(A) #Iam_mmnﬁaﬁt
(B) T qul A H
(C) T =T qU1 Aet T8 K
(D) R T T A& NS A
99, Hiftrwm fired &
(A) Sy e 3
(B) N¥iEifes Hiftme &
(C) FrhaRs Hif¥ww &
(D) WSy P
100. gsm,wﬁf&igaaawﬁsﬁﬁ?ﬁ%;
() TR
(B) TREA
(C) ToRgferg
(D) T F=

[P.T.O.
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101.

102.

103.

104,

105.

AG-2 : CROP PRODUCTION AND HORTICULTURE
FHN-2 : A G & ST

are used as
(A)
(B)
(€
(D)

fodder maize
popcorn
sweet corn

baby corn

Silver oak is botanically known as
(A) Cassia fistula

(B) Millettia ovalifolia

(C) Grevillea robusta

(D) Bauhinia variegata

Which of the following flowers is used to
intensify the colour of egg yolk when
added to poultry feed?

(A) Chrysanthemum

(B} Saffron

(C} Rose

(D) Marigold o

‘Khapra Beetle’ insect attacking wheat
grain during storage is known as

(A) Rhizopertha dominica

(B) Trigoderma granarium

(C) Tribolium sp.

(D) Sitotroga oryzae

‘Propping’ is an important operation in
which of the following crops?

(A} Sugarcane

(B) Sugarbeet

(C) Jute

(D) Barley

TAPE-01B/14/5-A

WWW. I ecr ui t ment

‘Madhuri’ and ‘Priya’ varieties of maize

30

101, w7 1 el Tgd’ @ B’ w1 owm fen

102,

103.

104.

10S.

e ?

(A) NS ey

(B) dfusid &% & &
(C) EeHHHTH

D) sRFEEF A

e o &1 et Tm R
(A) e Rwgen

(B) Fefar spafereiferar
(C) Ifaferr Qarer

(D) WRAT &

a3 3 e g = o pff F em #
o2 F fi WM F W RN WA FA H
T v R

(A) TR

(B) H

(C) o=

(D) e

WESRY & dRW N H A FR AR
‘G dfiee’ §

(A) UgegYf S

(B) ziFmeat fam

(C) graifery wiisfist

(D) Reigm sirresit

‘s fr 3 X e waw § A SR el
weaqe e 7

() =

(B) FFR

©)

(D)

.guru

e el A A i T

4 e

e o
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106. Which of the.following States has the

107.

108.

109.

" ‘reclamation of - 7

110.

largest area under sugarcane?

(A) Maharashtra

(B) Uttar Pradesh

(C) Madhya Prgdesh

(D) Bihar

For proper storage, the optimum
moisture level:of wheat gragn.should be
(A) less than 10%.

(B) 10%-15% .

(C) 15%-16%

(D) more than 25%

The optimum temperature during
sowing of wheat should be :
(A) 22-23 °C
(B) 30-35 °C
(C) 4045 °C

SR

(D) 0-5 °C

Rock phosphate is used for the

(A) alkaline soil
(B) acidic sotl
() rocky land -

(D) - sandy soil

Which of the following plants does not
bear scented flowers?

(A) Hibiscus syriacus
(B) Lathyrus adoratus
(C) Lonicera japonica

(D) Sweet Sultan

TAPE-01B/14/5-A
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1os.u%aﬁﬁaﬁ$mﬁnﬁﬁmmﬁ,_

waiftes dawa 87

(A) wERTE

(B) SW W
(C) WA W

(D) fwew

107, 3% weny % fe A F gw/de F 0

(&) 10% ¥ ¥

(B) 10%-15%
(C) 15%-16% .,
(D) 25% & At

108, ¢ gon 3 o Ivge s Ao <R

(&) 22-23 °C
(B) 30-35 °C
(C) 4045 °C
(D) 0-5°C

109. wmf@zma@m(@nﬁ)%mmﬁ

W%mmé? s
(a) sty

B) el i

(©) m‘z@

D) ek o

10, frer 4 P 4% 8 e g e a7

(A) Rfew aRarrd
(B) Surw YeRew
(C) fEu AqfF
(D) ®he geam

[P.TO.
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111. Which instrument is used to meastire

112,

113.

114,

TAPE-01B/14/5-A

wind speed?

(A) Anemomgter

(B) Hygrometer

(C) Windmill

(D) None of the above

Controversial ‘Bt cotton’ is resistant to
which of the following? ‘

(A) Lepidopteran pests

(B) Orthopte;an pests

(C) Powdery mildew fungi

(D)} Bacteria

Cérxfbt is boféﬁically known as
(A) Daucus carota

(B) Raphanus sativus

(C) . Allium sativum -

(D) None of the above

Which method of propagation has been
depicted in the given diagram?

(A) - Seed
(B) Budding o 3
(C) Cutting

(D} Air layering

32

111, T A 1R T F R fea seRw @
warT faRa s 27

(a) i

(B) TEHWAR

(C) wa-wh (Frefia)

(D) I # A N T
1“12. mf-‘m — ﬁs'aaa %\quﬁﬂw ®?

A) AT T

(B) AT Y

(C) st ficgg v
(D) e |

113, TR 1 TGRS T 3
(A) EiHq 3T
(B) W deram
© eferm derem
(D) 3w # q Id T

114, fr e e & gy A Aa-d B i
2

(C) ™.

D) &
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115. Which of the folldwing i an acitfic 115,10 # § -t wosh amefar &7
vegetable? o
| (a) ®aE )
(A) Rhubarb Z

fe (B) el

(B) Shatavari
€) TP

(C) Beetroot
T (D) i

(D) Broccoli

116.

According to the data of the Directorate
of Economics and - Statistics, Delhi
(2009-10) total area under food grain
cultivation in Madhya Pradesh ‘is

(A) 12:46 million ha -

(B) 520 milliorrHs "+ 1

(C) 30-20 million ha

o o

116.

(2009-10) % atwet & sgam wma wew A
TR BHel (fe W) Fah & owala o
e Qe e 37

(A) 12-46 faferEm o
B) 520 ffEade
(C) 30-20 fuferm o

(D) None of the above . D) ssRaSE
117. ‘Brown rust’ diséase of wheat is caused 117. A i ‘T we’ A = wR ¢
b; .
y | &) oA R
(A) Puccinia recondita .
B) ulFfar Mt
(B) Puccinia graminis — -
' e (C) ulfrar grwitda - "¢
(C) Puccinia striiformis
(D) i Rfemms }

(D) P - ) ! ‘t' rgl‘»

s a varicty of 118. ‘T shedre’ et i 3 faeht e 7
118. Pusa seedless’ is a variety of s :
R TR (A) Qi'él‘l
(A) banana
(B) kinnow (B) g
(C) grape (C) 3R }
(D) R

. .[D) pomegranate

119.

Onion is botanically known as,_
(A) Alium cepa -

(B) Solanum lycoperswum

(C) Allium sativum ° R

(D) None of the abb¥e ¥ !

119,

e,

(&) e da

(B) WIGW R
(C) Wrm Qe ¢
(D) e ¥ A = 4 -

TAPE-01B/14/5-A 33 A PUTLOL
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123. The

120. The modern soil-surveying techniques

include the use of

(A) ERIS

(B) LANDSAT

(C) GIS

(D) All of the above

121. Brinjal is botaﬁically known as
1A} Solartum melongena™ *
(B) Solanum lycoperszcon o

(C) Brassica napzer

(D) Brassica oleracea

122. Which of the following crops is suitable

for the extraction of fibre besides oil?
{A) Lingeed F1
(B} Mustard
(C) Groundnut N

(D) None of the above:

optimum temperature
refrigeration or chilling is

for

(A) 0 °C to 5°C
(B) -5°C to 0°C
(C) -15°C

(D) -18 °C to -40°C

124, The process of adding vitamins. to the

squash is known as:
(A) canning

iB) pasteurization
(C) sulphurization

(D} fortification

TAPE-01B/14/5-A
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130. 3y T waw g & v R s R

121.

122,

(A) ERIS
(B) LANDSAT
(C) GIS

(D) 3w wft

& 1 AR T ]

(A) @R A

B) @ TR

(C) M= A

(D) ST SRR

e 2 o e 0 A A e
wrgar fisrerm & fore b S §7
(a) et

(B) &

(C) Hmweh

(D) mﬁﬁﬁﬁaﬁéﬂﬁ

123. ey srean fafom & fong Suge aomm R

(&) 0°C&S5°C
(B) -5°CR0 °C
(C) -15°C

(D) -18 °C & -40 °C

124, wE § Refa fem © wie @ # wa

&7

(A) a:f-’m

(B) WRETEAIH
(C) HeHUTTH
(D) IERRHT -,
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125. Which method of propagation: has been

126.

127.

128.

. A)

B

depicted in the given diagram?

(A) Budding
(B) Seed

(C) Air layering
(D) Grafting

‘Ear cockle’ disease of wheat is caused
by

bacteria
(B)
(€)
(D)

nematodes

fungi

parasites

In crop cultivation, which season is
called Rabi?

(A) October-March -

January-March

July-October

May-July

©
(D)
For preservation of natural coloured
products, Whigh of the following
chemicals is used?

(A) Sodium benzoate

(B) KMS

(©) SO, :

(D) All of the above |

TAPE-01B/14/5-A
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126.

127.

128.

125 Ry T R § ol R AR-h Ry i

¥

(A) wfeEm

(B) &=

€ =

(D) e st

W w W (TR ) A @ e
HROT g 87

(A) AR

(B) TP

() e

(D) whiet

waet Y I ¥ B e R @ wE S
27

(A) FFRERAN

(B) wwat-A

(C) TR

(D) WA

vt TR el % W & R Bt #
T T 1 3w o St @7

(A) wifeaw deige

(B) KMS

(©) SO,

(D) I wft

[P.T.O.
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129. The varieties of cotton suitabléSfor 129, W& WU Qs forw g B ﬁn ﬁ ¥ -

Madhya Pradesh are et 3@ 27
(A) Sharda and Surabhi (A) TIRET ud g(ﬁ:,
(B) Rohit and Shamli (B) UM< & ek
(C) Khandwa-3 and Vikram (C) wieal-3 w fasm
(D) None of theé above (D) ng QB T
130. Golden Duranta and Iresine are mainly 130. Treed 31?[ e ERA w1 wE B s 2,
used as THEa:
(A) a hedge (A) ¥ % v
{(B) an edge ®) o ¥ w9
(C) coloured flowers ©) e WT' ¥ fre
(D) All of the abov¢ D) 3@ o
'131. izxsrik:;.lg (Gal:dhl Bug) is an 1mportant 131. q;ﬁ 1 B § Y B wath W W
(A) rice 5 ?A) e
(B) maize -
(C) soya bean
(D) groundnut :;:)) -{;:j;
132. What should be the optimum acidity
level in jelly? ‘ i 132. S¢ft # Suge @em (sncrn) el forerh
A 1% ’ et e
B) 5% o @A) 1%
©) 10% - B) 5%
D) 05%-06% @ 10%

(D) 0-5%-0-6%
133. In Madhya Prades_sh, Twp-Year Crop i . o
Rotation is followed' for which of the  133. o Wau & feamiie v = # it & @ o

following crops’ sowing? © el ®I T S 87

(A) Cotton-jowar - - - (A) <hUTH-SAR

(B) Cotton-wheat : ‘ (B) ®ara-Tg

(C) Cotton-potato ~ (C) -

(D} Cotton-maize (D) *UN-u=EH

TAPE-01B/14/5-A 36
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134. Which of the following crops is called.as 134. ﬁﬂ:! 7 Q ’@am H ghe O FE ™
White Gold”? | | ¥ T
o s ;
(A) COtton 2 (A) -q;q-m ‘
(C) Soya bean M 2 © !ﬂiﬂiﬂ?
(D) None of the above ‘
(D) 3w # ¥ B 7
135. The optimum concentration of syrup in N .
canning should be 135. & & fog 9ia it I9Yh Wil Bt =g
(A) 20-55°B (B) 70-85°B (A) 20-55°B (B} 70-85°B
(C) 50-60°B (D) 10~15°B (C) 50-60°B (D) 10-15°B
136. The oil content of linseed seed is 136. 3ot (forifdre) & aftet & @ i wE Al @
(A) 37%43% - (A) 37%-43%
(B) more thanﬁO% . o L (B) 60% & it :
(C) more than 70% .. (©) 70% ¥ I
(D) 20%-25% B (D) 20%-25%

137. ‘Snapdragon’  or ‘Dogflower’  is ¢ T .
. 137. QR A1 ‘SleEy Hh T T
botanically known as , ' 3

(A} Calendula officinalis (A drigen SieRAfeT
(B) Antirrhinum majus B (B) GRiE A5E
(C) Centaurea moschata | | : (C) @=fem wiewrer
(D) Papaver somniferum . (D) N AT 7
TAPE-01B/14/5-A : 37 C [P.T.O.
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138. Pore space (%) is equivalent to which of

139.

140.

141.

the following?

Bulk density %1
Particle density

(A) 100- 00

Bulk density
Particle density

(B) 100+ x 100

Bulk density

‘ x 100
Particle density

(€)

Particle dehsity

(D) -
Bulk density

x 100

The optimum cdnceﬁtration of 8O, in
nectar and RTS is

(A) 100 p.p.m.
(B) 350 p.p.m.
(C) 250 p.p.m.

(D) 750 p.p.m.

Hydraulic force is equivalent to

(A) Area x Height of water column
Density of water

(B) Y2 Area X Heig"ﬁt‘" of water column
Density of water

(©) 2 Area x Height of water column
Density of water

(D) ‘None of thé above

Central Institute for Cotton Research

{CICR) is situated at
(A) Nagpur
(B) Bhopal
(C) Mumbai

(D) Ahmedabad

TAPE-01B/14/5-A
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138. T wwa (%) 7§ & P o 27

139,

140.

141.

(A) 100-

YT YT
—_—x 100
CAURZELC]

(B) 100+

LI
——————W x 100
&Y g

L3 GOIRSE G
ENRCEE

(C) x 100

ERCEE ]
Ry GOIRCELE

(D) x 100

Yot 3 RTS # 80, ) 30w T 8t 2
(A) 100 HrodtouHo
(B) 350 rodiousto
(€) 250 Htodtouro

(D). 750 fodiotHo

FrEeiore o frash s o 27
T 1 ¥

vs St x G Y Fard
gt 1 T

) 2 YTFA x gy hl T
qHt T g

(D) 3ud & § w Tl

(A4)

(B)

(C

‘Feo $ige wR wiew R@d (CICR) @ &
(A) TR A

(B) wiurer &

© guEd

(D) EwEER #

.guru

A A A T S A




142. .Out of the total cultivated area in India, 142, v # @aﬁ forg sm a gm -‘Raw &1 feaeT

how much is irrigated? w fafya 27
) 28%-32% | W 2sams -
(B)' More than 40% . (B) 40% W 31f
(C) 50%-60% ‘ © 50%—60%‘
(D) 20%-30% , {D) 20"/0—30%
143. One hectare area comprises of 143. T e # fran @'ﬁ»’ﬂm ’37
(A) 10000 m? : A) 10000 Tz
B) 12000 m2 (B) 12000 Tt
© 4000m? (C) 4000 Tt
(D) 800 m? i ' (D) 800 Wifler L

144. Which of the following types of engine is 144. 3R T Y SR 9 o T A X e

used in tractor? R 1 gl 37

(A) Internal combustion engme ‘ (A4) FEE TH

(B) External combustion engine (B) SEeE Ead .
(C) Mechanical combustion engine (C) IiFF & 9

(D) All of the above | (D) WN

145. ‘Yellow Revolution’ is attributed to the 145, f&Q waa F 3aq dFER R tﬁa Wﬁ el

increased production of which crop? T 37
(A) Yelléw pulsgs A Ay dh I
(B) Grain crops. | ’ (B) THER BEHA
(C) Oilseed crops - - | (C) A= oA
(D) All of the above ‘ (D) g w
TAPE-01B/14/5-A 39 : [P.T.O.
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146. For malting, the moisture content of

147.

148.

149,

150.

barley should be
(A) 20%-25%

B) 20%21%

(C) less than 14%
(D) less than 2%

In cotton, Xanthomonas axonopodis pu.
malvacearum causes which of the
following diseases?

(A) Bacterial blight
(B} Rust
(C} Leaf spot

(D) All of the above

Wheat variety suitable for dry farming is
(A) Kalyan Séna

(B) K-68

(C) K-65

(D) All of the above

How much nitrqgéh is obtained from
urea?

A) 42%

B) 46%

(©) 25%

(D) 60%

The seed rate of maize grop is
(A) 20-21 kg/ha

{(B) 10 kg/ha

(C) 25-45 kg/ha

(D) None of the above

TAPE-01B/14/5-A
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146.

147.

148.

149,

wifeen % forg s & o < won @ Ry
(A) 20%-25% |

(B) 20%-21%

(C) 14% ¥ =W

(D) 2% ¥ A

ww  #  Jumaw  mied 9.4
Areraferary e St w1 RO /7

(A) Afae sge

B) ™ ‘

(C) fi® wie

(D) 5wt

T Ot & Rrg W A BR-h e g 27
(A) ST A

(B} K-68

(C) K-65

(D) 3w aft

e & P SRt e T S 37
(A) 42%
(B) 46%
(C) 25%
(D} 60%

150. wet % i $ 7AET B TR

(A) 20-21 fRouo /B0
B) 10 RFomo /2o’

(C) 25-45 fRommto [Ro
(D) 394 & & F T

WWW. r ecr ui t nrent .. guru
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AG-3 : ELEMENTS OF ANIMAL HUSBANDRY AND POULTRY FARMING
FiR-3 : ay] v F@e T & T

151. Carbon dioxide level inside the 151. oA 39 (FFRN) I $E TReieEEe #

incubator should not exceed - R 3ftes T @ =nfRd
(A) 01-02 percent © = @) 01-02 SR d
4B} 0-3-0'G percefit .+ - .. (B, ows m@

(C) 0-7-0'9 percent ‘ ©) 07_09;11%@3@

D) 1:-5-1-8 percent
(D) P (D) 1-5-1-8 W &

182. Feed conversion ratio for commercial

broilers is about N 152. IR FlaeR § 3113“ W 313“"3 Al
- 3 R, wmm
@A) 10 |
h t \ (A) 10’ h
- (B) 20 U
(B) 2:0 : e
(©) 30 ,
(¢} 30
(D) 40
(D) 40
153. Pitfall of cage system of housmg in . ,
poultry is 183. gﬁﬁ%maﬁﬁmmﬁm%
(A) " difficult-cugting, 7. .2 (A) S=h wRA
(B) housing and equipment cost | (B) NEW TE 9 I
(C) occurrence of coccidiosis (©) FFffeRE B

(D) space requirement (D) SATE Y ATawEHAT

154. Which of the follawing is the leading

State for poultry productlon in Indxa? 154 W & 3@23( s 'ﬁ W@ T R

(A) Andhra Pradesh : (4) swww |
(B) Tamil Nadu -, (B) dferg
(C) Gujarat g : (C) T
(D) Uttarakhand =~ (D) ITE@TE
TAPE-01B/14/5-A 43 i TRT.O.

WWW. r ecr ui t nrent .. guru



1585.

156.

157.

158.

159.

(D) All of the above

Sick gnimalg are ghecked.by .
{A) inspection
{B) percussion

(C} auscultation

In which of the following diseases of
cattle there is ‘abortiori ‘of Ppregnant
animal after 6-7 months of pregnancy?

(A) Anthrax 7

(B) Brucellosis

©) Blackquarter

(D) Mastitis

For which of the following diseases of

cattle, pre-monsoon vaccination should
be done every year?

(A) Anthrax
(B) Blackquarter

(C}) Haemorrhagic septicaemia

(D) All of the above

Chromosome number of chicken is

A) 72

B) 78

(C) 80

(D) 82

The distance between . ; two . poultry

houses of same age group chicken
should be at least

(A)
(B)
(©

12 metre
15 metre
18 metre
(D) 24 metre

TAPE-01B/14/5-A
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v ryr 198 T e & v A 3

- (8) - Pheo

156.

(B) wum

(C) e

(D) I ot

o § 3 v vt # il oyt F 6-7
g 18 MU B S 37

(A) fﬁm‘h‘m |

B WefE

. C)y. TR

157.

(D) o=

et 3 2 el A o Ao A 7 3
st g % g wf o demr T A7

@A) fred-tm

B) =

(C) Tereiig,

D e
158. gfifgt & wrem wem Dt ¥

&)
(B)
(€
(D)

72 p
78 |
80
82

159, wrenH I deh g & @ ud % e
"m-a-m@ammﬁa

12 Hie
(B) 15 #HeX
18 HiX
(D) 24 Htex

(A)

©
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160.

161.

162.

163.

Cow should be dried off after how many
days of lactation?

(A) 240
(B) 270
(C) 305

(D) 330:+ .

Environmental influences, are less in
characters having

(A) high heritability

(B) low hentablhty

{C) medxum hmtabllxty

(D} None of the above

In grading up method of breeding,
purebred charagter. will.. be - attained
after ‘

(A) 3 generations
(B) 4 genera;ﬁoﬁs |
€ s generatio'nsi‘: .
(D) 7 generations

By using liquid nitrogen, semen straws
are stored at the temperature of

(A) -70 °C
(B) -100 °C .
(C) -196 °C S

(D} None of the above

TAPE-01B/14/5-A

160.:

maﬁﬁmﬁﬁn%w-w%mﬁw
FT TRA?
(A) 240 A

(B) 270

- {C)} 305 . .

161

(D) 330

;mmwmawﬁﬁmﬁm% %mﬁ

AR

162.

163.

(A) I= AgERE

g (B) ﬁl‘-‘{ a‘mm it
(©)- wzwawgaﬁmm

o) Wﬁ*ﬁﬁéaﬁé%‘i
maﬁmmmﬁmaﬁm%am
W g

&) 3 dffeatF SR

(B) 4 i@t &

(C) 5

D) 7aREE

T TR w1 R e e o B 2

(A) =70 °C
(B) ~100 °C
(C) -196 °C
(D) mﬁmﬁaaﬁaﬁ

. [PT.0.
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164. In India, artificial insemination ‘was
used for the first time at

(A) NDRI, Karnal

(B) IVRI, Bareilly

(C) Palace Déiry Farm, Mysore

(D) Project Directorate on Cattle,

Meerut

‘165. Incomplete milking in cow causes

(A) reduction in fat percent of milk

(B) udder infection |

(C) Both (A) and (B)

(D} more milk production later on
166. In cattle, conventional bams are

preferable to loose housing due to

(A) better cleaning |

(B) better disease control

{C) less .exp‘osure to outside weather
conditions

(D) All of the above

167. The method of drying for dairy cattle is
(A) complete cessation of milking |
(B) incomplete milking
(C} intermittent milking
. (D) All of the above
168. Casein content of buffalo milk as
compared to cow milk
(A) is higher
(B) is lower
(C) is the same

(D) varies with diet

TAPE-01B/14/5-A
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. S & e Fhm mifaw e

. Tt d gl gy @ A d

. mmﬁﬁmmﬁﬁﬁﬁm,@mm

. Tt o el e A A R

. %@ & qu & ¥R f aEn, T & Qo h g

(A) o Flo ARo Mo, HA &
(B) 3o dto 3o 3Mgo, Felt #
() o S wod, A &

(D) - 7 uyy ufim fFReem, ¥te #

(A) Fu & FEn yiowa #
(B) @A ¥ H@HHU

(C) 2t (a) 3 (B)

(D) mﬁarﬁmgmmm"

I W SOTEh Y geen & e 8§ Rew wwor )
q glauEs 37 |
(A) ew T | :
(B) g 7 femr ,
() are e wRfEfet 1 3w

(D) 3wdw

R i

B

(A) Fu-3ET w19 3 =
(B) g gu-dea

(C) IR W FU-TE

(D) I ot

-

#

() waTer S }

(B) FA A

(C) e A}

(D) MER ¥ NFUR FEewt B

N
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169, Most of nitrogen in milk is found as 169. Ru # ftrwin Mg fewd it 37

(A) casein o (A) ¥

(B) lactalbumin B) AR
(C) lactoglobulin .. (C) dwreiregfem
(D) lactoferrin - | oo | (D) AwRrHA

170. Main milk-producing animals of India

170. ¥R & Y61 TU-30EH Iy ¥

are
(A) cows (&) T
(B) buffaloes . ® %
.(C) sheep QB
(D) goats o .(D) G
171. Per capita availability of milk in India is 171; wea 3 vy =R gw e
(A) 183 g/day e (A) 183 U™ wfafA
B) 223 g/day | - (B) 223 1 RRA
(C) 263 g/day - (©) 263: m wfake
(D) 153 g/day (D) 153 7w wfifeA

172. The region between two forelegs of a 172. h gl % @ {3 ¥ o9 w1 W FE 2

cattle is called
 (A) breast _ A) &
(B) brisket | (B) NeRaW
© jow | - (€) =
(D) None of the above: (D) I & & =d
TAPE-01B/14/5-A 47 ~ [P.T.O.
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173. Which of the following is not aipafhiof

174.

175.

176.

177.

small intestine?
(A) Duodenum
(B) Ileum

(C} Jejunum

(D) Rectum

Karan Swiss is a breed of

(A) cow

(B) buffalo

(C) sheep

(D) goat

Which of the following is dual-purpose
breed of sheep?

(A) Corriedale

(B) Ddrse;t
(C) Karakual

(D) Southdown

Triplets are common in which of the
following breeds of goat?

(A) Jamunapari
(B) Black Bengal_ x
(C) Beetal B
(D) Sirohi

Sickle-shaped horn is a characteristic of
which of the following buffalo ‘breeds?
(A) Murrah

(B) Surti

(C) Bhadawari

(D) Jaffarabadi

TAPE-01B/14/5-A
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1783.

174.

175.

176.

177.

= 1 R AT o eifa @ e i 9
(A) sgifem

(B) 3erm

(©) forgm

(D) W™

(a) T
®
() 9
(D) =0

e & & et g R ol e ¥7

(A) AR -

(B) T

(C) HF

(D) wRwETs

U R Qi G ) SR g S o
grTa: 4e A &7 ’

(A) ST

(B) =& ame

() fem

(D) Rt
gma;wa;mnaaaaﬁmmasam
?

(a) 5

B) F

() s

(D) STHEET
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178. For testing adulteration of cow milk

with buffalo milk, which of the following

~ tests is used?

(A) Alcohol test
(B) Starch and potassium iodide test
(C) Hansa test |

(D) None of the above

179. Manger space requxrement of an adult

cattle is

(A) 40-50 cm

(B) 50-60 cm

{C) 60-75 cm

(D) 75-90 cm

Increase in environmen@ tem'gerature

causes following changes in milk
composition

180.

(A) Increase in fat content
(B) Increase in lactose content
~ (C) Increase in protein content

(D) Increase in SNF content

181. The pH of fresh buffalo milk varies from
(A) 58-6-0
(B) 6465
(C) 6:7-68

(D) 54-56

182. Specific gravity of milk is increaged by
(A) addition of sldmrgg__ed mllk

(B} removal of cream |
(C) Both (A) and (B)

(D) None of the above
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184.

185.

186.

Which ‘of the following is the produetive
type of roughage?

(A) Maize
B) Jowar™
{C) Bajra

(D) Berseem

Good quality silage should have high
content of

{A) acetic acid.
(B) butyric acid’
(C) propionic acid -

(D) None of the above’

Peculiarity of sheep feeding is
(A) sheep prefer large mature grass

sheep chew feed léss thoroughly
than cattle

(B)

(C) sheep compete with dairy cow on

pasture

(D) sheep nibble small blades of grass

on pasture

Breeding buck, 'feeding on: pasture,
should be provided with which of the
following amounts of concentrate daily?

(&) 200 g
(B) 300 g
(C) 400 g

(D) 500 g ST e

TAPE-01B/14/5-A
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186.

e 1 Q BN-W IR =91 a7
(A) wE=RT

(B) SR

‘(C) EIE]
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W3 & v Y fdhwar 2
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187. Characteristics of a-goed bull I

188.

189.

190.

191.

(A) purebred and maséuline body
(B) no physical deformity -

(C) dam record in pedlgree of bull
should be good .-

(D) All of the above .

Number of permanent teeth in %gdw is
(A) 20 |

B) 28 . T )
(C) 32 |

(D) 40 B

A good heifer cow of Indian  breed

should have which of the following?
(A) Birth weight 15-20 kg

(B) Age of sexual mag;grity 10 months
(C) Pedigree should be good

(D) All of the above

Which of the following teeth ‘ére used for

. age determination in cattle?

(A) Canine

(B) Incisor

(C) Premolar

(D) Molar

In which “of the following - difeasés,

chicken vaccine is admlmstered in the
wing? P

(A) Fowlpox
(B) Gumboro
(C} Marek
(D) Ranikhet

TAPE-01B/14/5-A
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192. Which is the most" common - anifal 192. 3ffdt ¥ smm & waifw g% €N AN |

protein supplement used in the diet of WA WEH I &
chicken?
(A) woekt w gl
(A) Fish meal |
B) wig = 9o
(B) Meat meal (B) Tf
(C) Feather meal - (€ @ Tf
(D) Liver residue meal ' - (D) TR qgf o B

193. Crude protein content of broiler starter 193. T RIK AR F AW WIK AR A g

ration as compared to layer starter " % wen WA A R
ration is '
A fts
(A) more
' B) #™
(B) less _
(C) same. (€) =uet

(D) Both (B) and (C) | (D) A (B) 3k (C)

194. Which of the following is a fungal 194 7= # ¥ gffat = warifim Im &
disease of poultry?

(A) TerRrenfa
(A) Aspergillosis »
B) &
(B) Pullorum
(C) wI3wdied
(C) Fowlpox
' (D) wiFdifERE

(D) Coccidiosis

196. . Acidity of sweet Dabhi is 198. 3 () 74 i v Aeh @ -

. _(A) 05 percent | | (A) 0-5 gfawa

(B) 0-7 percent | (B) 0-7 wfawra

(C) 1-0 percent (C) 1-0 Wfawra

(D) 2-0 percent : (D) 2-0 wfawra
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196. Fat content of Khoawprepared~from .. 196, ¥ ¥ 39 ¥ R W 7@ § 797 a1 &

197.

198.

199,

200.

buffalo milk is
(A} 257%
(B) 287%
(C) 32:1%
(D) 37'1%

Basic design of butter churn is
(A) swinging churn

(B) rotating churn

{C} dash churn -

(D) All of the above

The factor which influences fat percent
of cream is

(A) the position of cream screw
(B) bowl speed
(C) the rate of milk in-flow

(D) All of the above

Grower stage of layer chicken is

(A) 4-8 weeks

(B) 6-9 weeks

(C) 9-20 weeks

(D) 8-14 weeks

Which of the following breeds is known

as champion of egg production in
poultry?

(A) White leghorn
(B) Ancona
(C) Minorca

(D) New Hampshire
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O T TS SRR DYE! ¥ RN SIS R P N
¥ T d ; - INSTRUCTIONS REGARDING METHOD
S|¥ﬂ‘i I qva-eh iEIESI OF ANSWERING QUESTIONS
( %941 Black ball-point 9% &1 YW &t ) ( Please use Black ball-point pen )

1. W a7 &7 alier : 1. Method of Marking Answers :

Gw r-c - ﬁ.ﬂ 3o THo IWo IW-H % To answer a question, please darken only
Tt T % S TR Tt one bubble out of the given four, in the

fe m L OMR Answer-Sheet against that question.
HIA TH M T BT B

2. W Uaﬁ: 2. quuation Procedure :

There are four alternative answers to a

Y% T F AR IHEH TN 3, 3:|ﬁ q ¥ question, only one of them is correct. One

Th IW AR §| TH 1 G T 3ifHrd =3 A mark will be awarded for each correct

Lo st YW Bm AR T A S N F=A answer. If more than one bubble are

i darkened for a question, it will be

o ’é,. @ 7 e f oad EF?( presumed that the candidate does not know

:!g:q H‘a‘:f IR AH ? 3R 3@ = o the correct answer, hence, no mark shall be
Siaf awarded.

3. IW & AT HAT T TG 3. Cancellation or Change in Answer :
IW FEe 1 e = & e w1t afa-uiz= It will not be possible to change the
W ™ N % Ao B T2 Tvg B marked bubble with Black ball-point pen.
a*m T 3o Jp— & Therefore, correct answer should be

’ Ryl SW-9F H IW H carefully chosen before marking it on the
;?«n WA F @ 9 IR H T aEuHigds OMR Answer-Sheet.
|
4. Handing over of the Answer-Sheet to

4. IN-9F Agrw & qlaw Invigilator :

() HEw  ITW-GH 9 F TR gﬁr@m (i) Please ensure that all entries in the
o 5 3aeus i ot ‘Iﬁ?ﬁ & am, {\nswer-Sheet are filled up Properly,
et ‘ X i.e., Name, Roll No., Signature,

T, FEIER, T-fRE @ FHiE Question Booklet No., etc., before
anfe Freifa o w= S-3F W e E) handing over to the Invigilator.

(i) whem ¥ IR whenedt #t ww- (i) g:ggIDATE_S ARE PERMITTED TO

: Y AWAY THE QUESTION
IR o W | R R e BOOKLET WITH THEM AFTER THE
] EXAMINATION.
5. IWY-UF & IgQiT ¥ graur :
7 , * 5. Care in Handling the Answer-Sheet :

FR-9F B T WA G ‘I{f’T e ¥ wEyr While using the Answer-Sheet, adequaté
T T FA, A 91 qOE IS ¥ S 7 care should be taken. Do not tear or spoil
NEER o - W @ Ten e 39 ’It;e .f\nswer_—§heet by fc?lding or wrinkling.

A . ) ¢ impression of the circle made by Black
;}; 3 ft & =t THHT BIH IW-T a;ﬁ . . ball-point pen should not come behind the

WRT | T 3| Answer-Sheet.
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